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ȧ = H0

[

Ωr,0

a2
+

Ωm,0

a
+ ΩΛa

2
]1/2
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θ(radians) = 206265× θ(arcseconds)
G = 6.67× 10−11 m3 kg−1 s−2

h = 6.626068× 10−34 m2 kg s−1

c = 299792458m/s
RH = 1.096878× 107 m−1

k = 1.38× 10−23 J/K = 8.62× 10−5 eV/K
σ = 5.67× 10−8 Wm−2 K−4

MSun = 1.99× 1030 kg RSun = 696, 000 km TSun = 5, 800K
LSun = 3.8× 1026 W MV (Sun) = 4.83 MBol(Sun) = 4.74
MH = 1.6726× 10−27 kg
MHe = 6.643× 10−27 kg
MEarth = 5.97×1024 kg REarth = 6, 378 km DEarth−Sun = 1.496×1011 m
1pc = 3.086× 1016 m
H0 = 71 km/s/Mpc
uC = 5200 MeV m−3


